
■ つぎの長さは何km何mでしょう。

① 1040ｍ ＝ km m ⑩ 30800m ＝ km m

② 22078ｍ ＝ km m ⑪ 88930m ＝ km m

③ 37705ｍ ＝ km m ⑫ 48692m ＝ km m

④ 6900ｍ ＝ km m ⑬ 70790m ＝ km m

⑤ 4085ｍ ＝ km m ⑭ 80004m ＝ km m

⑥ 50582ｍ ＝ km m ⑮ 2008m ＝ km m

⑦ 1201ｍ ＝ km m ⑯ 90035m ＝ km m

⑧ 7860ｍ ＝ km m ⑰ 90070m ＝ km m

⑨ 6426ｍ ＝ km m ⑱ 50805m ＝ km m
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■ つぎの長さは何km何mでしょう。

① 1040ｍ ＝ 1 km 40 m ⑩ 30800m ＝ 30 km 800 m

② 22078ｍ ＝ 22 km 78 m ⑪ 88930m ＝ 88 km 930 m

③ 37705ｍ ＝ 37 km 705 m ⑫ 48692m ＝ 48 km 692 m

④ 6900ｍ ＝ 6 km 900 m ⑬ 70790m ＝ 70 km 790 m

⑤ 4085ｍ ＝ 4 km 85 m ⑭ 80004m ＝ 80 km 4 m

⑥ 50582ｍ ＝ 50 km 582 m ⑮ 2008m ＝ 2 km 8 m

⑦ 1201ｍ ＝ 1 km 201 m ⑯ 90035m ＝ 90 km 35 m

⑧ 7860ｍ ＝ 7 km 860 m ⑰ 90070m ＝ 90 km 70 m

⑨ 6426ｍ ＝ 6 km 426 m ⑱ 50805m ＝ 50 km 805 m

メートル と キロメートル
年 組 名前

/18


